N = 0 &8 AFH Y & A AN
20178 = 20l & LB H HSAIE AN A
A MSAEAMELA
M AQ AAST (2L AZ/HS)

S M=FANE 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HSAIEAS A 9,424,306 12,157,566 N2,733,260

Xl 800,000
Dl 173,280
< 91,548
Al 8,359,478
A ALSX (2L 2 /AHF) 8,865,418 11,173,378 A 2,307,960
Xl 800,000
Dl 173,280
< 91,548
Al 7,800,590
HEANE 29 2,720,500 2,295,884 424,616
Olelga 29 1,987,698 0 1,987,698
309 8E= 1,734,398 0 1,734,398
01 SAt- SHIEANNES 1,734,398 0 1,734,398
OAl& 22| S 1,734,398
404 SMNSHIA2EEZ 253,300 0 253,300
01 SAt- SHASEES 253,300 0 253,300
OAld 22| 2t 253,300
HMAlE 22 732,802 1,507,487 NTT74,685
101 @121l 246,260 350,780 AN 104,520
04 JI2ZtH22XNHEE =+ 246,260 350,780 N 104,520
OM=sAIE 22 Ful 31,488
—J|I223 51,760& x205L «2H 21,222
— F=xxe 51,760& x43 x2H 4,452
—5¢=4 51,7603 *1.5%10 »2H 1,553
— X 51,760& * 10 x2H 1,036
— 2tAlH| 3,000& x215 x5 3,225
OS2z & sFHH 19,436
—-JI=23 51,7603 x249! »1H 12,889
— Fxg 51,760& #6522 x1H 2,692
-4 51,7603 *1.5%30 »1H 2,330
PN 51,760& x 122 x1H 622
— 2HAlH| 3,000& 301 *1 903
OsdHs Msessad 22 195,336
—-J23 51,760& 100 »30H 155,280
— == 51,760& x20F=*30H 31,056
— 2HAlH| 3,000& *100& *30H 9,000
201 2yt 2 Y| 104,802 269,932 A 165,130
01 AFR2t2l bl 29,970 38,920 A 8,950
OA & &Hl S XYl 8,520
— 23N =ZA Fo1EY| 150,000& = 12& 1,800




A MEAEAML L

M AQ AAST (2L AZ/HS)
Sl MSAE 29 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—San=se dogme g A48
260,000& 128 3,120
— AYAIA S 2A2IHE =42 (2 )
300,000& ~12& 3,600
ogxs 15,000
—ASANE(dD . 85, 525) 15,000
O2sH=s& 2238 el 6,450
—St&EX S 150,000& *12& 1,800
—3HALAEE 100,000& ~12& 1,200
- 228 MYIISE 4 ,500& *5000H 2,250
— M 100,000& ~12& 1,200
02 3824t 74,832 231,012 AN 156,180
O332= % HA 42,832
—UAAEX SSYS SAZ
32,000 *3 A x12& 1,152
—LYAAEX SSES 082
55,0003 %2 A~ x12& 1,320
— S MRS
2,300,000& x12& 27,600
— S HEI2 2 SAR=2  80,000& 128 960
— 23H 3 2 Aot 22
150,000& =128 1,800
— A= 5,000
—SHS HSANE 2222 5,000
OAlI& &H|l K X Hl| 32,000
— S s3 2 2 20HA I, A Bs S
SXes 25,000
— 2SI 2 HHED| M2 & A 4,000
— Ssd a2 BX4&H HH| 2,000
—MExE HA2MA) 500,000& *23| 1,000
202 04| 6,240 6,240 0
01 2L Y| 6,240 6,240 0
OM=sAd2 R 6,240
206 M = dl 40,000 97,000 A57,000
01 & bl 40,000 97,000 A57,000
OSHE Ass cl 40,000
401 AIEHIL 20| 334,500 672,500 A 338,000
01 A& Hl 333,000 671,000 A 338,000
OMEANdE 2 B 135,000
— s =F 5 22 5,000
—S8s JMEeAME B+ & bl 130,000
OSTFM=EIH AIEE B4 2 2)a 10,000
O8HsS MSAE A &3HH 8,000




2AM: X
X XH -
(== B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJN=H=s3d =2 F4 180,000
03 A& =2 THHI 1,500 1,500 0
OMSE A& 22| 1,500
405 THabH S| 1,000 111,035 A 110,035
01 AL ESFH S 1,000 111,035 A 110,035
Oul=2l 500,000 »2CH 1,000
HEAE 2= 2,904,904 6,013,000 A 3,108,096
Xl 800,000
Al 2,104,904
HsEAE =4 401,500 301,500 100,000
401 A& HI L RO 401,500 301,500 100,000
01 A& HI 400,000 300,000 100,000
SHE HSAE &X 200,000
OZ=20r7& & A& 200,000
03 Al 2 THHI 1,500 1,500 0
O3 HSEAE £ 1,500
MSHUEANE N (22F AY) 1,751,404 951,500 799,904
Xl 500,000
Al 1,251,404
401 AIEHI L 2 CHYI 1,751,404 951,500 799,904
Xl 500,000
Al 1,251,404
01 A& HI 1,649,404 950,000 699,404
O==2% =4 1,349,404
X 500,000
Al 849,404
O=2% =& EX0HH 300,000
02 2feldl 100,000 0 100,000
O==2% =4 100,000
03 A& 2 THHI 2,000 1,500 500
o=z &4 2,000
MSHESAE NF(AZEDD X4) 752,000 0 752,000
Xl 300,000
Al 452,000
401 Al HIZ 201 I 752,000 0 752,000
Xl 300,000
Al 452,000
01 A& HI 750,000 0 750,000
OAZ=O3 (A AIEAHHl) 750,000
X 300,000
Al 450,000
03 Al 204 2,000 0 2,000




M= AL AL A
CAR HABX(ESL2R/HE)

CHSEANE 2=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

| OAZXTHE X4 2,000

gMs =4 1,592,349 1,534,603 57,746
J| 173,280
< 68,119
Al 1,350,950

HHESIH & 29 1,203,000 1,203,000 0
< 48,800
Al 1,154,200

201 LBt 3,000 3,000 0

02 2324l 3,000 3,000 0
Oz3&22= & HA 1,000
— sk ¥ BEE 1,000
OXtg &t 2,000
— g 280 ¥ ®Xd] 2,000

301 gt L= 1,200,000 1,200,000 0
< 48,800
Al 1,151,200

V=t - 2s2SE43 1,200,000 1,200,000 0
OHHEQEE M 21dH & 234l 1,200,000
< 48,800
Al 1,151,200

MEH S WA 30,160 20,160 10,000
= 4,838
Al 25,322

307 21201 A 30,160 20,160 10,000
< 4,838
Al 25,322

02 HAFAASFEE 30,160 20,160 10,000
OdaENsuns 29 30,160
< 4,838
Al 25,322

HEMMENSXNEZX X (2SXE) 76,824 73,224 3,600
J| 38,412
Al 38,412

307 21201 A 76,824 73,224 3,600
J| 38,412
Al 38,412

02 It S AIHE L 76,824 73,224 3,600
ONEddYE MEHSX A 24| 76,824
J| 38,412
Al 38,412

MEHsZ20d K& 28,480 28,480 0
= 4,664
Al 23,816




A MEAEAML L

HE: A HLS (2L 2Z/HK)
ool MBS sS4 (9@ )
= _ — d =
S HB . C(EH) - NRAY - BES %Eﬁ o
307 glz2tol & 28,480 28,480 0
< 4,664
Al 23,816
02 PIZHEHAHE L 28,480 28,480 0
ONEol Msua 4,960
< 950
Al 4,010
OZ=+Hs W& 5,320
& 1,037
Al 4,283
OFAY M 10,000
< 950
Al 9,050
OWdHEM= 4,680
=) 1,123
Al 3,557
O2glg dad = 3,520
< 604
Al 2,916
UBME Y S T X B X ( 179,256 146,448 32,808
J| 89,628
Al 89,628
307 glz2+ol & 179,256 146,448 32,808
J| 89,628
Al 89,628
02 HAFHAANHEEE 179,256 146,448 32,808
OHEMsSXNEX 1A 179,256
Jl| 89,628
Al 89,628
Zx AH0IBA 64,629 53,291 11,338
J| 45,240
< 5,817
Al 13,572
307 21201 A 64,629 53,291 11,338
J| 45,240
< 5,817
Al 13,572
02 It S AHE L 64,629 53,291 11,338
OAax= ZHH0ISA 64,629
J| 45,240
< 5,817
Al 13,572
g2 s =S4 10,000 10,000 0
=) 4,000
Al 6,000
307 glz2tol & 10,000 10,000 0
=) 4,000
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2N

M= AL AL A

B AD AYSH(2HLTDZ/AR)
SR MEA 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Od= @ o9 N=S8N 9028 S 2,000
301 dEtE A= 25,000 25,000 0
06 212toI =2 (4 Bl 25,000 25,000 0
OHEIEds S MU &It 25,000
307 212t01 & 37,000 40,000 A 3,000
02 DIZtZAAMEE X 30,000 30,000 0
O¥=283l 30,000
04 QIZHSHALAIE B2 X 7,000 10,000 A 3,000
ONMEA Al&tA 7,000
405 XtabF S| 31,000 0 31,000
01 Mt = S F S 31,000 0 31,000
OXFE (1) 31,000
ek ol e OletE tHal 296,000 285,000 11,000
201 Bt A | 66,000 65,000 1,000
01 AFR2 22l Yl 66,000 65,000 1,000
Oget+=gH| 58,000
— 0tet=E 3 2Z8H4H & 3l ol &l 8,000
— 0i2tE g Jt2271 20/8 &l 4,000
—0OietE tig 233 5,000
—0l2tE U3 g8 35,000
—OtetE tigl OlXIE & 2108 &4 6,000
ogxts 8,000
—0t2tE 3 olsstaAl 8,000
301 dEtE A= 5,000 5,000 0
09 HAIAH EA =S 5,000 5,000 0
Obtete K3 X H&X AS 5,000
307 212t01 & 225,000 215,000 10,000
04 QIZHSHAFAIRHE 2 X 225,000 215,000 10,000
ogaotel s OretE tal 225,000
H143 Lotel s OtetE U3l 190,000
— Ml158 L 0olel & OtetE U3l 35,000
3.18D|18 98EF=U3 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QIZHSHAFAIE 2 X 15,000 15,000 0
O3. 187018 J8E8x Ug 15,000
TOME 3 190,000 180,000 10,000
307 QI2t01 & 190,000 180,000 10,000
02 QI2tAAMAIE E =X 190,000 180,000 10,000
OZ0ME 3l &It 190,000




EN

M MEANEA

R

M A HLSH (23
2

Selr MM

SA-FB - BAEH) - NRAY il
Aalds M=l 35,000 35,000
307 21201 & 35,000 35,000
04 Q128 AL A 35,000 35,000
OAlI2l 24 35,000
AETAZ 2] T3l 10,000 10,000
307 21201 & 10,000 10,000
04 QIZHHALALH B £ 10,000 10,000
OAlgl A 10,000
S0 MEH=s 90,000 80,000
307 glztol & 90,000 80,000
02 it A & 90,000 80,000
Ozl o 90,000
ANEH AlRI2Z 7,000 7,000
307 glztol & 7,000 7,000
04 RI2H8 A} 7,000 7,000
O AIE Hi 7,000
d=HM=s U 3,000 3,000
307 21201 & 3,000 3,000
04 212t ALA 3,000 3,000
O&=H 3,000
AZEIl BHESIE i3l 8,000 8,000
307 21201 & 8,000 8,000
04 QIZHSHALALE B £ 8,000 8,000
OAI&EJI 8,000
AZH AHOIES O 7,000 7,000
307 glztol & 7,000 7,000
04 QIZ2HHALALE B = 7,000 7,000
OAIEHY HOIEEZE U2 7,000
AEIl HIUA el 7,000 7,000
307 glz2tol ™ 7,000 7,000
04 DI2H8H AL AR 7,000 7,000
OAIE I 7,000
ozd M= 12,000 12,000
307 21201 & 12,000 12,000
04 2I2FSH AL 12,000 12,000
oozl 12,000
AZH &= M3 15,000 15,000




EN

M MEANEA

HH: AR HASI (L 22/H )
2

R

SR MSEA 2el (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OAZEH =32 i3l 15,000
FAaE ZA 9,000 9,000 0
307 eIzl & 9,000 9,000 0
04 DI2FHALALSE 2 X 9,000 9,000 0
OFAHE E& Hal(x,5,1) 9,000
2dsd =¥ ER0M3 22,000 20,000 2,000
307 21201 A 22,000 20,000 2,000
04 QIZFHALAIH B = 22,000 20,000 2,000
Odsed=x=d &7 3 22,000
2ot gl 22eld =23 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OZotel &t el =7 el 7,000
UAA MEMSE NHEAHED| CHB A 20,000 25,000 A5,000
307 glz2tol & 20,000 25,000 25,000
04 DI2HHALALSE E X 20,000 25,000 25,000
O LA MeX=s NAEAED] & 20,000
AZHE ARSI QIOF R CH & 7,000 7,000 0
307 2Izt0l A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
OA X Atz IOk CH 2l 7,000
S0l ZAE 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
Odol ZAUS 5,000
AN2H= el 90,000 0 90,000
307 gl2tol & 90,000 0 90,000
04 DIZHHALALSE E X 90,000 0 90,000
OAEIX=CHSE 90,000
A= 2 TH? MSEA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DI2HHALAISE E X 20,000 20,000 0
O&= & Tt MISEA 20,000
MEHE 248 23,000 18,000 5,000
307 21201 A 23,000 18,000 5,000




2N
X ZH -
L= B

el

M= AL AL A

R

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 23,000 18,000 5,000
OdEM=s g43t 23,000
=3 @ dE2s /3E 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OXM=z g2 d9&ds AIS 5,000
S d= Z0 M=Us ot 122,000 100,000 22,000
307 21201 A 122,000 100,000 22,000
02 LAFLAFEX 122,000 100,000 22,000
O+ ZOXN=s U3 &It 122,000
CoHMslHe 8+ 4 50,000 0 50,000
307 gl2tol & 50,000 0 50,000
02 IZtA M AHE X 50,000 0 50,000
OE2HsElz 26+ 54 50,000
S CHe XS A 308,858 208,198 100,660
< 23,429
Al 285,429
d= 2303 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZFHALAIH E = 20,000 0 20,000
Od= 22U3 20,000
A= HHEQIES 225,000 110,000 115,000
< 20,000
Al 205,000
307 21201 A 225,000 110,000 115,000
< 20,000
Al 205,000
04 QIZFHALAIH B = 225,000 110,000 115,000
Of= =28 3¢ WELE Hal 180,000
< 20,000
Al 160,000
OZXADI BHECIE T3l 45,000
ZOHQ M= sotel XN 6,858 8,198 A 1,340
< 3,429
Al 3,429
307 izl & 6,858 8,198 A 1,340
< 3,429
Al 3,429
04 QIZFHALAIH E &= 6,858 8,198 A1,340
OFMe H=so0tel 6,858
< 3,429




A MEAEAML L

HE: AQ AUSH(SHUDY/HS)
Sl ®MBED S A CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

| Al 3,429
de Hoe =g K& 5,000 5,000 0
301 et A= 5,000 5,000 0
09 HAIAHI B A2 5,000 5,000 0

O34 e M=zl 5,000
A AHEIU3S 15,000 18,000 A 3,000
307 2iz2to| A 15,000 18,000 A 3,000
04 QIZ2tSHALALS B X 15,000 18,000 A 3,000

OdY AH 53203 15,000
MXEdEEY &S 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHALALS B X 10,000 10,000 0

OdXEzdEY &A&US 10,000
UAAIHD] B F ERHI 7,000 7,000 0
307 212t0| & 7,000 7,000 0
04 SIZ2ISHAAISHE E X 7,000 7,000 0

OLAAED Y F €303 7,000
d=2TMAaA=sZ3 20,000 0 20,000
307 2Iz2to| & 20,000 0 20,000
04 SIZ2SHAAISH E & 20,000 0 20,000

Od=z203a==ii3l 20,000
HESAAH (HSAEALSN)(IIEH/IIEH 208,888 659, 382 AN450,494
ol =2 HH| 123,352 569,942 AN 446,590
ol ALY 123,352 569,942 AN 446,590
101 Q124 4] 123,352 569,942 AN 446,590
01 2 81,613 84,459 N2,846

o=z 81,613

— 6= 10,682% *55A| 2t x 128 x4 H 28,201

—-72 9,649 x55A| 2Hx 122 x3H 19,106

— 83 8,663 *55A| 2t *x 128 «6H 34,306
03 RIHEZZXHE = 41,739 485,483 N443,744

O2siss 2 22 41,739

- J22 1,536,230& x12& x1H 18,435

— &= 8,349

Il et 19,514,760 x4/ 12x1H 6,505

HE S| 921,738 23| x1H 1,844

— 22| Z M| 1,080

PPN =y 90,000 128l x1H 1,080




M MEAE
X

M HYSIIH (MSAIZASA)(IIEH/IIE
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— = OHACY 240
Pl 20,0003 x12& 1Y 240
L 12,472
Al 2 10,900& *52Al 2tx 123 +1H 6,802
¢ 87,2203 x65 * 1 5,670
— A Xt 58,1403 x20 L * 1 1,163
Jl2&dl 85,536 89,440 A 3,904
JlE2&l 85,536 89,440 A 3,904
201 et 39,156 39,640 A 484
01 At 22l 39,156 39,640 A 484
ORN2Yg JI=224 39,156
202 O4dl 42,820 46,200 A 3,380
01 =LHA YI 42,820 46,200 A 3,380
O=U o di 42,820
203 YR =& 3,560 3,600 A 40
02 R Jtate 560 600 AN40
&2 A 40,000& x14H 560
04 2N2SH 3,000 3,000 0
N2 3,000
HEES(HMSAEAL D) 350,000 324,806 25,194
HEAHHK = 350,000 310,000 40,000
HEHAH X = 350,000 310,000 40,000
702 JIS3HES 350,000 310,000 40,000
0 II2d8E3 350,000 310,000 40,000
OxM=sz=E = 350,000




